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Match #31


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This title was first given during the Heian (hey-ahn) period, and it means ‘general who subdues the eastern barbarians.’ The Emperor’s son held it briefly in 1333, but three long-lived dynasties held the title: the Minamoto, Ashikaga, and Tokugawa. Between 1185 and 1867, what title was held by the true rulers of Japan? 

ANSWER: shogun(s)

2.
This painting’s artist was threatened with an ear-biting from an angry Iowa housewife. Gertrude Stein liked it, but she thought it was a satire of small-town life. Neither of the people in this painting were farmers: it was the artist’s dentist and sister. What Grant Wood painting portrays a woman looking at her pitchfork-holding father?

ANSWER: American Gothic
3.
After accidentally shooting his girlfriend Joan Vollmer, he turned to writing, writing Junkie about his heroin addiction and then The Yage (yah-hay) Letters about his search for a new drug. His later works included The Wild Boys and The Red Night trilogy. Who wrote about the incompetent Dr. Benway in The Naked Lunch? 

ANSWER: William S. Burroughs II

4.
THIS IS A COMPUTATION QUESTION. What is the length of the hypotenuse of a right triangle with legs of length 24 feet and 32 feet, remembering that leg squared plus leg squared equals hypotenuse squared and that 24 squared is 576 and 32 squared is 1024?

ANSWER: 40 feet
5.
From the Greek for thin, they are fermions with spin one-half that have no substructure, are not made of quarks, and do not feel the strong force.  Name this type of particle family whose three flavors are the tau, muon, and electron, which consists of those three massive particles, their neutrinos, and their antiparticles. 

ANSWER: lepton(s) (prompt on ‘electron’)

6.
In this novel, the ‘guidebooks’ are not specifically named, but are probably the Bible and Pilgrim’s Progress. The protagonist marries Profess Friedrich Bhaer (bair), and becomes closer to her sisters Amy, Meg, and Beth as she gets older. Josephine, or ‘Jo,’ March is the protagonist of what Louisa May Alcott novel, whose sequel is Little Men? 

ANSWER: Little Women

7.
This type of contract has a seal on it, placing it above and beyond ordinary contracts. In the US, they are typically included with ‘Conditions and Restrictions’ on a real estate deed. In the Jim Crow era, they were used to prevent non-Whites from moving into a house. What legal term also describes the promises God has made with humanity? 

ANSWER: covenant
8.
Although a pronoun, this word is often used as a possessive adjective by some Cockneys to indicate an object belongs to the speaker. In Caribbean English, this pronoun is used in the subjective case – a usage also seen by Sesame Street’s Cookie Monster when referring to himself. What is this word, the objective case of the pronoun “I”?

ANSWER: me
9.
During his four-month term as Prime Minister, he handled the invasion of Dagestan by neighboring Chechnya, and while President, he has seen the prosecution of the head of the Yukos oil company.  Who is this man, the current President of Russia?

ANSWER: Vladimir Putin
10.
First identified by its namesake German psychiatrist in 1901, about 24 million people worldwide have this disease. It creates plaques containing mis-folded proteins called beta amyloid.  Exelon and Aricept may moderate its symptoms.  Name this neurodegenerative disease that causes dementia, primarily in the elderly, and was the cause of Ronald Reagan’s death.

ANSWER: Alzheimer’s disease

11.
In music, it is an ordering of tones that employs all 12 pitches of the chromatic scale. Another meaning is primarily British and is virtually synonymous with ‘argument.’ It can also refer to a succession without a break, as in titles won in consecutive years, or to a line of adjacent seats in a theater or sports stadium. What word also refers to propelling a ship with oars? 

ANSWER: row(s) (the British word rhymes with ‘cow,’ so accept either pronunciation) 

12.
Her weapons included a quill that causes words to be scratched on the back of the writer’s hand. She was chased off Hogwarts by Peeves and overcome by a herd of centaurs. She was Hogwarts’ only High Inquisitor and her Defense Against the Dark Arts classes focused only on theory. What toad-like woman is the primary villain in Harry Potter and the Order of the Phoenix? 
ANSWER: Dolores Umbridge
13.
This economic term was first used in the 18th century by the physiocrats, a school of economists from France. It was first meant to warn against government interference with trade. What term, today synonymous with ‘free market,’ comes from the French words for ‘let do’? 

ANSWER: laissez-faire (lay-SAY fair)

14.
The austenitic type comprises over seventy percent of its production and contains at most 0.15 percent carbon and at least sixteen percent chromium.  There are also ferritic and martensitic types of it.  It is used in cutlery, watchstraps, and the St. Louis Gateway Arch, and obtains its desirable qualities due to a passivation layer of chromium (III) oxide.  Name this type of steel that is corrosion resistant.

ANSWER: stainless steel (prompt on ‘steel’)

15.
The King of Naples led an early charge that took the Rayevski Redoubt, but the French were unwilling to commit the Imperial Guard. This spared the enemy army, commanded by Mikhail Kutozov. The single bloodiest day of the Napoleonic Wars was what battle of September 7, 1812, fought against Russia? 

ANSWER: Battle of Borodino
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
It is made by mixing pigment in eggs and was widely used in the Middle Ages. What type of paint must never be confused with a Japanese method of deep-frying? 

ANSWER: tempera
1B.
What writer died of lupus in 1964 and left behind novels including Wise Blood and short stories including ‘Everything That Rises Must Converge’?

ANSWER: Flannery O’Connor
2A.
Grace Golden Clayton and Sonora Smart Dodd share the credit for establishing what minor holiday in June? 

ANSWER: Father’s Day
2B.
What term refers to a cell without a nucleus?

ANSWER: prokaryote
3A.
THIS IS A COMPUTATION QUESTION. How many distinct ways can the letters in the word pepper be arranged?

ANSWER: sixty
3B.
“Dar Beida” (dar bay-ee-dah) is the Arabic name of what city, the largest in the Maghreb region of North Africa?

ANSWER: Casablanca, Morocco

4A.
What pigment is responsible for human skin color?

ANSWER: melanin
4B.
THIS IS A COMPUTATION QUESTION. Convert 9/16 into a decimal.

ANSWER: 0.5625
5A.
What word can describe either the wafer used in the Eucharist, a large army, the organism on which a parasite feeds, or someone that invites you to dinner?

ANSWER: host(s)

5B.
What musical that includes the songs “Edelweiss” (ay-del-VEYES) and “Do-Re-Mi” is based on the book, The Story of the Trapp Family Singers?

ANSWER: The Sound of Music
6A.
THIS IS A COMPUTATION QUESTION. Give the CPU frequency for a system with an 800 megahertz front side bus and a clock multiplier of 4.5.

ANSWER: 3.6 GHz 
6B.
THIS IS A COMPUTATION QUESTION. What is the value of the logarithm of 1/81 base 3?

ANSWER: -4
7A.
THIS IS A COMPUTATION QUESTION. At what point is the center of the circle x minus 5 squared plus y plus 33 squared equals 144?

ANSWER: (5, -33)
7B.
What automotive manufacturer announced they were relocating their American headquarters from outside Detroit to Northern Virginia?

ANSWER: Volkswagen
8A.
What rival of Les Paul is most famous for making the Telecaster and Stratocaster electric guitars? 

ANSWER: Clarence Leonidas (Leo) Fender
8B.
The marriage of Fitzwilliam Darcy and Elizabeth Bennet ends what novel by Jane Austen? 

ANSWER: Pride and Prejudice
9A.
What World War II conference, held in February 1945, occurred on the Crimean Peninsula? 

ANSWER: Yalta conference

9B.
What ship, common in the ancient Greek world, got its name from having three rows of oars on each side of the ship? 

ANSWER: trireme(s) (TREE-rem)

10A.
 What adjective refers to the varieties of vernacular Latin that were spoken throughout the Roman Empire and eventually became the Romance languages?

ANSWER: Vulgar
10B.
What is the atomic number of iron?

ANSWER: 26
Third period, 15 toss-ups, 10 points each

1.
An extension of inertia, it explains why tropical cyclones will not form on the equator.  As a result, what force acts upon the pressure gradient and deflects winds to the east as they move toward the poles, but has no effect on the flow of water in toilets?

ANSWER: Coriolis Effect or Force

2.
The guitar solo on this song was a guest appearance by Eddie Van Halen. Bob Giraldi and Michael Peters brought in genuine street gang members for the video. In it, the singer, wearing his red jacket, used his moonwalking moves to break up a gang fight, since “it doesn’t matter who’s wrong or who’s right.” “No one wants to be defeated” to the buzzer to name what signature hit of Michael Jackson?

ANSWER: “Beat It”

3.
The title character became king of the Geats (gheets), and died while fighting a dragon. He had earned his fame by slaying a ‘kin of Cain,’ thus saving the Danish king, Hrothgar (huh-rawth-gar), and then had to slay that monster’s mother. In what epic does the title character slay the Grendel? 

ANSWER: Beowulf

4.
Areas such as Hybla Valley and Franconia have this city as their mailing address. Its neighborhoods include Del Ray, which encompasses the area that was once the town of Potomac. It was the capital of occupied Virginia during the Civil War. What Virginia city was part of the District of Columbia for 56 years, and is located between Arlington County and Fairfax County? 

ANSWER: Alexandria, Virginia

5.
Depending on the story, he was either the son of Ra or the son of Osiris with Nephthys (nef-this). When an ancient Egyptian swore an important vow, they swore it by this god. He determined who got eaten by Ammit after death by weighing the heart of the recently deceased against Ma’at’s feather. What jackal-headed god ruled the underworld and the dead in Egyptian myth? 

ANSWER: Anubis or Anpu or Sekhem Em Pet
6.
In 2007, he and Donna Shalala were appointed to investigate abuses at Walter Reed. He ran as Gerald Ford’s running mate in 1976, and served as leader of the Senate Republicans between 1985 and 1996, when he resigned to focus on his Presidential campaign. What former Senator from Kansas lost the 1996 election to Bill Clinton? 

ANSWER: Bob Dole
7.
They are shiny and silvery-white and are characterized by having their 4f subshells as their outermost subshells.  Examples of them include thulium, cerium, europium, and promethium.  This periodic table series is part of the ‘rare earth’ elements. It ranges from element 57, which is its namesake, to 71, which is lutetium. What element series is located above the actinides? 

ANSWER: lanthanide or lanthanoid (prompt on rare earth before mentioned)

8.
He defended segregation in the essay, ‘The Briar Patch,’ in the Southern Agrarian manifesto I’ll Take My Stand. He changed his mind, interviewing civil rights leaders in Who Speaks for the Negro. He wrote the textbook Understanding Poetry and the novel At Heaven’s Gate. Who created the character of Willie Stark in All the King’s Men? 

ANSWER: Robert Penn Warren
9.
This symphony premiered on March 27, 1792, and is the second of the “London symphonies.” Its second movement’s theme was used in the oratorio – not written by Vivaldi – The Seasons, but said second movement is better known for a G chord in measure 16. What nickname is given to Franz Haydn’s 94th symphony due to said G chord’s being extremely loud? 


ANSWER: Surprise Symphony (accept Haydn’s 94th symphony before “Haydn” is said in the question)

10.
2500 years after Croesus (KREE-sus) created them, South Africa offers the ‘Krugerrand,’ Australia offers the ‘Nugget,’ Canada the ‘Maple Leaf,’ and the United States the ‘Eagle.’ The US once made the Saint-Gaudens (sawn goh-dawn) Double Eagle worth $20. What numismatic items are made from metal more precious than silver? 

ANSWER: gold coin(s)

11.
A “thought camera” and an ion-propelled aircraft were among his proposed inventions. He helped Westinghouse win the “War of Currents” over Edison. In 1937, he wrote “The Art of Projecting Concentrated Non-dispersive Energy through the Natural Media,” a description of his “death ray.” In 1943, the Supreme Court said the inventor of the radio was what Croatian engineer? 

ANSWER: Nikola Tesla
12.
THIS IS A COMPUTATION QUESTION. In lowest terms, what is 3/5 plus 7/8 minus 2/3, which is equal to 72/120 plus 105/120 minus 80/120?

ANSWER: 97/120
13.
He is governor of the fictional island of Barataria (bah-rah-tah-ree-ah) for several weeks. His wife Teresa supports him, and he rides a donkey named Dapple. He endures beatings to ensure Altisidora’s resurrection and the transformation of Dulcinea. What peasant goes on adventures with Don Quixote (kee-hoh-tay)? 

ANSWER: Sancho Panza

14.
This title comes from Greek words meaning ‘overseeing.’ In some Lutheran churches, this title has a six-year term, although in the United Methodist Church, the title is held for life. In the Latter-Day Saints, someone with this title is the pastor of a local congregation. What title refers to the Catholic minister that oversees a diocese? 

ANSWER: bishop
15.
Named after the German valley where found in 1856, they became extinct approximately 24,000 years ago.  Fossils of them have been found throughout Europe and as far east as Uzbekistan.  This hominid caveman used stone tools and was replaced by, but may have interbred with, Homo sapiens. What species was not as backwards as commonly thought? 

ANSWER: Homo sapiens Neanderthalis
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
The Chinese theorem about them deals with congruences in number theory.  It can also refer to the residue of a congruence.  It is also found by the modulo operation.  Name this term for the amount left over from division, which in the example sixteen divided by five is equal to one.

ANSWER: remainder
2.
In 1773, he fled to Fredericksburg to avoid being hanged for killing a sailor under his command. He won battles on the Black Sea in the late 1780s for the Russians, but is better known for a battle in which he defeated the Serapis. His grave was moved from Paris to Annapolis, Maryland, in 1913. Who commanded the Bonhomme Richard during the American Revolution, and is considered the ‘Father of the American Navy’?

ANSWER: John Paul Jones
3.
She is the subject of attention for Gremio, Lucentio, and Hortensio. However, her father says she isn’t getting married until her older sister gets married. This difficulty was solved by Petruchio’s arrival. This sweet-tempered girl is the daughter of Baptista Minola. Who is the younger sister of Katherine, the ‘shrew’ in The Taming of the Shrew? 
ANSWER: Bianca Minola

4.
Launched in 1988, this network first aired its creator's favorite movie, The Wizard of Oz.  Through the 90s it showed older movies from MGM and Warner Brothers and sports programming like Sunday Night Football and WCW Monday Nitro.  Currently, it airs original programs like The Company and The Closer along with its Law and Order reruns. What network’s tagline now proclaims a knowledge of drama?

ANSWER: TNT (or Turner Network Television)

5.
Off of South America, this type of interaction is happening to the Nazca Plate, creating the Andes Mountains and also causing volcanic activity in the area.  Additionally, the Pacific Plate's movement towards the Eurasian is creating the Marianas Trench.  What is this type of interaction between crustal plates where a less dense ocean plate is forced under a continental one?

ANSWER: subduction
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

